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Note - Attempt all Questions. Fach Az - w7 uv wBErd 1wk Wi & A E
question carries equal marks. ITUIA §)

1. The terms of the sequence moy be 1. IOERd T @ e &
(A) Alldistinc T (A) T R T
(B) Repeating T (B) gRA AT
(C) (A) and (B) bath (C) (A) 3 (B) A
(DY None of these (D) Z<8 & B 7=

7. A commutative ring with unity and 2. Uk SN fatmyg wea gk ¥ wm 3R

fren g S, s

without zern divisor 15 called an

(A) Ring (A) aea
(B} Field (B) &%
{C) Integral domain (C) ng
(D} Sub field (D) Juerd
A transpasition is cyce of length: 3. uF HR WadE TE N 7l B
(A} 1 (a) 1
(B) 2 (B 2
(C) 3 (C) 3
(D) 1

(D) 4
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6.

Let G ar s group with Idontity e and
Le: I be 3 subgreup of G then iden
tity in H in-

(ARl Same as e

(8) Other thanc

(C) Anelement of H, nat in G

((3) Moy be e, may be other than

Q
A sertes is definec as
(A) The sum of the infinite nc. ol
terms of the sequence
(B) Tre Product of the infinite no
of terms of the sequence
(C) Same 25 saquence
(D) None of these
Choose incorrect option-
(A) sin{ix) =i sinhx
(B} cos(ix) = C0s nx
{C) tan h(x) = =itan (ix)
(C) None of these
A geometric series with cormmon
ratio r converges |if
(A} r<l
(3) rean
(C) r=1

(D) None of these

695/T

(2]

ok G o T v amRie o #
e H, G w Igagy & A el
-

(A) e

(B) e A=

C) HEwrFR A e
(D) e & A wodt 2, ¢ A HH WO

et 2

A R ¢

(A) 3BT W 5T d. gt A
ar

(B) MTFM & A |, b & H
s

(C) 3B ¥ 3

(D) #H & o =

d e THU-

(A) sin{ix) = 1 sinhx

(B)

{(C) tan n{x) = -1 1an (ix)

(0) g™ ATs TE

o saTEtEr Ao e aEa r &

e afia & d o

cos(ix) = cos hx

(A} ret
[B] roel

(C) rz1

D) & A &

.



11,

Fvery convement saquenre Is

{A) Bounded

(B} Unbounded

(C) May oe bounded bs well as

unbaunded

(D) QOscillarory

The ring R and {0) are cailed:

(A) Proper idecals

(8 Improperideals

() Pruper and improper both
(D) None of these

It 0{G)y=24 and G is cyche. If 8-G
It a%<e, a-“=¢ then the order of g is
(A) 2
(B 24
(C) 6
(D] None of these
Thne charactenstic of an integral
domain is:
(4} Either G or prime number
(B} Either 1 or aninteger

(C) Ether Oor !l
(D) None of these
Arq (0)18:

(A} O

8) 1

(D) Naot defined

695/7

(3]

10.

11

12.

WS NIRRT Fup= 8

(A} foxo g

() Sru =

(C) T eon W & wear & AR W
TR R E A aam

(D) TrRW g3

arma R AR {0} TEoTw &

(A) drd HEH

(B) Ry SIER) _

(C) 7s o adg 3

(0) ¥ & O 76

AR 0(G)~24 AR G oG & TR a<G

A a¥#e, alire T 2 IV ﬂ'}'ﬁ 4

(A} 2

(8) 24

(C) &

(O) § § B @

mh R 3 @ e &

(A) TTT O U AU T

(B) & @\ o 0F QI

Cy wme@ o

(D) = & 5

e (0) &

(A) 0

(D) 3R

P.T.0.



13, emARE R

13. The perad of e (s |
(A) = .

(A) =

(8) 2a (B8) 2n
(C) ~ (€Y =i
(D) 2xi D) 2xi

14, The centre Z(G) of » group G is 14. oy G 31 5% 2(G) wrr e #-

always (A) 3 TR

(A) Abelian subgroup B) mm-

(B) Cycdlic subgroup

(C) Normal subgroup (C} ST IR

(D) All are true (D) o v
15. The value of c** is equal to | 15. ¢ B T QAR &

(A) e (A) e

(8) -e (B) -e°

(C) e (C) e"

(D) -ev (D) -e*

16. 1f G={1, -1}, then G will be: 16. o G={1, -1} A G &m:

(A) Additive group (A) OIS TR
(B) Multipiicative group (B) TOE IE
{C) Negative group (©) e —
D) None of th

07 one of these (0) ¥ ¥ 2 6

695/T (4]



17. A scmi-group (G,0) whh identity
element s called:
(A} A groupoid
(B)Y A monoid
(C) Abrlian group
() None of thesc

18. The inverse of Lhe permutation

i1 2 3]
2 3 1y
(it 2 3
(A) 15 3 .J
. ‘72 31
{B) 1 2 3,
1 2 3
(C) 21 al

(D) None of these

19. Thne sequence <1, 2, 3, ......> IS
sounded:
(A) BRelgw by 1
(B} Above by 3
(C) Below by 1 and above by 3
(D) None of these

20, If n*™ term of the series does not

tends to zero as n—x then series
IS
(A) Necessarily convergent

(B) May or may not be convergent

(C) Mever convergent

17. G5 WE-a9p (G,0) SRfos &y ¥ Ty
WETTRI]
(A) wm Qs
(8) wh W=TO8
(C) IR
(D) ¥ A o} =t
18. wH-HUy .

7= 2 moRemd

1?2 3 1,

2w

(A) 1> 34
2031

@ |; 5 3?.
*"I 2 3'}

(€} 12 1 3

(D) T} P W

19, W <1, 2,3, ...> fRI&
A) T XER
(B) ¥ 3% &R
(C) 1 % R IR IR 3 F §TT
gat & 2% A

50, 3R g2l &t A9 0 B PR FUT T8

(A} VERS JHAR
(B) wrE 3Pl T HERY T8 &
(C) =W Afwrd
(D) T A o &

(D) None of these

695/T (5] P.7.0.



21, Forthe secres

5- 11.2,.........11

it 710 e (30 + 4)
u. . An+7

1‘.‘1"': - iif'l m-,—-.Thlsseries Is
r+l

(A) Divergent
(B} Convergent
(C) (A} and (B) both

(D) MNone

22. e is the sum of series :

WOD UI[UONR[WLI MMM //:sd)y

24.

(D) None of these

- Ifordercfan element 'a' of a group

G is n. then 0(a )=
(A) X
(8) nt

(C) 1

(D) n

tan h(ix) 15 equal to:
(A} tan x

(B) tan hx

(C) itan x

(D) =i tan hx

695/7
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22,

23,

24,

LETL B AL n

2 710 ..veen. (3000

7y T e

(B) AR
() () sl (B) O

(D) T &
R mu e

1 1 1
(A] 1+ 2'*"3*-3--.....,.7...

1 1
(B) 1sgtgsuinn

1 1

(C) 5 ¢

(D) =@ & ¢ 4A
RITFEGS NG9 '3 EFEA N BV A
O(s V)=

()

(8) n

(C) 1

(B) n

tan h(ix) eq@R &:

(A) tan x &

(B} tan hxih

(C) itanxd

(D) -i tan hx &
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&5,

27,

Th= oidter o 2ath subomoup of a
Tnile group s @ drvisor af the order
of groups. The theorem is

(A; Cavicy's Theorem

(8

<)

Culer's Theorwm
Anrange's Thenrem
D) Kone of Mhacae

Ira, Boare any two elements o o
group G, then the Equation ax~b
{A) has many solutions in G

(B)

(C) has unique solution in G

has oxactly two solutions in G

() may have no solubion in G

A ¢yclic group of order p, where p
15 & pnme, has;

(A) p generators

(B) (p-1) generators
(C) (p-2) generators

(D} MNone of these
28. The series Y U, is said to be con-

ditionally convergent |f

(A) YU, wonverges and S U, | di-
YErges

(B) YU.and » U, both con-
verge

(C) 2 U, and ¥ U, | both diverge

(D) YU, diverges but MU, | con-
verqas

695/T

(7]

75

28.

fere Hifaa wog & IR &) ol s
Swii MR R im e e

(a) FHrT o

(&) QrT VT

g4d 4 o T

T acy b S I G & N sma
TT TEROT ax=b

(A) &G N2 g foowy #

(B) ¥ G O AE T BEa 2

(C) ¥ G & v g o o &

() F G I 5T Siees T8

Yk p O g@ET TR, T p TR
FITFET FIEN g, &

()

(D)

(M) p I E

(8) in-1) =¥

(C) p-2) T = &

(D) T T AR TR

o <y, wd sRmiRa g ofe

A S U, T aRA E e LU
ORI a<AT &

By MU, s Y| O wleiE

82

(C) YU, s 2 u,| &F1 Ry
|_¢}{'.'?T g

oy MU, whefm wedr @ s

MU, sueliy sRA 2

P.T.O.
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28, The serivs S o is
(A} Comvorgent
(8) Divergent
(C} Oscillatory

(D} Neng of these

i ']
30. The value of 'T.. [2+2| lies pa.

tween

(A} 1land 2
(B) 3and 4
(C} 2and 3
(D) Dand |

) Mty
31. The sequence \pi | COnverges to

(4) @
{8y 2
(C) 1
) -2
32. In the ring of 2x2 matrices over
the feld of real nurmbers, the zero

elements of the ring is the matrix:

(A)
N O
(B) 0 1|
07
©) e
0 0l
{D) n ['

695/7

£9.

30.

3L,

(A} s
(B) R
(C) oF-m
() 313y P

m II i ;] T W g W T Rem
(A) 1 Tmr 2
(B) 344
(C}y 2T 3
(D} 0 a7 1

(A) 047

By 29

A TR AT R 2% 2 Hgal
T TG W, T T G Al & g

1 'LI
)y
L0l

rB" U i
0 1

(C} 4 g
0
(D} 4 g
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34.

33. A yroup is abeliaws, if its every cic-
ments excepr the icentity is of
(A} Oraer 1
(R) Order 4
(C) Order 7
{D) Order 1§

The permutation (1 2) (1 3) {1 4)
{25)is
(A) Cad
(B) Even

(C) 8oth (A)and (8)

() Naone af thase

5. if{p,n)=1, a- G and o{a}=n then

U[’:l"}-'
A p (8) 1
(C) n Dy o,

36. The multiplicative group {1, w, w’}

37.

is cyche. The generators are-
(A) 1 and w

(8)
(C) 1 and w’

woang w’

(D} None of these

A moubolonic increasing sequenca
which is not bounded above s

(A) Convergent

(B) Diverges lo +«

(C} Oscillatery

(D) Diverges to ~-=

695/7

(9]

33.

34.

15.

36.

37.

0 WEE MR @ o sty ¥

Hialk® 176 T5® ¥agd 1 9
(A} 3
(8} 2
)2
(D) 1

PHE (L 2) {13341 4)(25) &
foremy

™

A)
(8)
(CY =W (A) o (B)

FAI (p, n)=1, ac G AN ofa)rn 74

(D)

O[ﬂ°]=
(A) p
(€) n

(B) 1

(0) n,

O AR TP TEF {1, W, W'}
F o #

(A) 170 w

(8) w~ Al v

(Cy 1wl we

(o) W F oK Tl

7S PR SR ST W AR
ey A &

(A) ATEW

(8) 39 9 B 3K

(C) g

(D) W Fonamn 3T B FR
P.T.0.
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38, The order of 1 in the group ({0, 1,
7,3, ,4, )t} 18
(A) 1
B) 7
(C) 3
(D) §

39. If H, and H_ are tao subqgroups of
2 group G then which s correct op-
tion-

(A} H H. is alse a subgroup

(8) H,~H, is also a subgroup

(C) Both (&) and (B) are correct
(D) None of these

40, Ewvery absoiutely convergent serics

5

(A) Convergent
(B8} Dwergent
{C) OQsciliatory
(D) None of these

F <%
Y

. Every bounded monotonically in-
£reasing sequende converges Lo
(A) Its supremum
(B) Itsinfimum
{(C; 0
(D) 1

42. HamiMtcnian group is

(A} Abelian group

(B) Non-Abelian group

(C) Sub group

(D) Cyclic group

695/T

[10]

36.

39.

40.

41.

42,

T (40, 1,2, 3¢ A0 k) H1 T
3-

(A)

(B) 2

(Cy a

() 3

gz v T, PECE A TTEFAD
o 3§ ota w g v 22

(A) HuH, 9 I shn

(B) H/H,® STEHR BT

(C) 20 (A) Tar (B) ¥ 2

(D) s § &3 &

e Brrar sy Son @

(A) afreTean

(8) 3T

(C) 2oty

(D) 750 & PR 72

TH WA AW Q Ag) TG a0e FEE
frafar @ @

(A) wo i ™

(B) ¥= s ae

(C) ©

(D) 1

e T 2

(A) 387N FF

(B) =W e =y

(C) T

(D} afW TE



43. Thesum of the serics. -« * i

tﬂﬂﬁ 'i u"ﬂ L ! uﬂfau:w._n Creasa ik

is @, provided ¢ satisfies

(A) - zas?

$°%%g
{B} -nzbyn
(€) - ens

x T
(o) - 3

44. log (1+itan B) is equal to
(A} log cos é+10
(8) log cos B-iv
(C) log sacBiv
(D) log sec b-i 6
. Log (1+1) 15 equal to

+
Wi

{A) %'OQZ*”?I\&I)'EE‘E

(B} jka2-ilni1/dls

!

(C) leg2+il2n-17%}n

wodauljuoneul mmam//:sdny

(D) iog2+ii2n. 1féir
46, [ftan(u+i¢)= cos a+isina, Theno
is equal Lo
(A) nn-a/f2
(B} 2na+=n/2

() gn:fnf4

(D} ne-a/a

695/T

[11)

(©) log sec 04i8
(D) log sec@-ig
45, Log (14i) ¥ #-

(A 3 loomﬂu«ru

(8) zlogl-llhu-it#}u FEE

R ._.‘
1 -

(C) logZ=~1f2ns1/2)x N

1 h _

(D) logz+if2n11/4la = 20 -_

46, T tan(B+l &)= cos a+i sin u..'#n
A '
(A) nm-af2
(B) 2nm+n/f2

(€) Snw-xid

(O) nr-x/4
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47, IFA+iB - f;'%_‘;,u,eﬂm“a,t,cgor 47. T a+Ba T WATKE W |
AandBare . _ i 2- I
(A) 12, -14 (A) 12, -14 |
(8} 21, -8 (8) 21, -8 |
© “§.% ©) -1.3 |
© 5, IR '
48. Number of all sub-groups of a cy- 8. TR (FER) 12 ¥ B THE S TR Jagt \
clic, group of order 12 = wo gt
(A) 3 (A) 3 |
(8) 4 (8) 4 |
() 6 €) 8 l
(D) 12 (D) 12 |
49. Any subgroup H of a group G is 19. FRGWH IR HART MR G &
normal if for all x - G, we have g® 3aqq x B E'"? I
(A) Hx = xH (A) Hx = xH |
(B) Hx z xH (B) Hx = xH |
(C) Hx=H (C) Hx = H
(D) xHxizH (0) xHx"'=H 5
50. Which of the following is not a 50. dm & arw e § B @1 Wy 8
groupoid under addition. g
(A) N={1,2,3, ...} (A) N={1,2,3,........}
(B Z =40, £1, +2, 43, ......... } (B) Z={0, £1, 42, 23, .........}
(C) S=40,2,4,6, .......... } (C) $=1{0,2,4,6. ... }
(D} S=4{1,3,5,7, .........}

D) §={1,3,5,7, ...}

o5/ [12]



51. If 2, b are any two elements of a

qQroup , then (a o b)-* is equal te
(A) a' a b
(B) bt a a:
(C) aob
(D) None of these

32. The number of ganérators of an in-
hrite cyclic group is
(A) »
(B} D2
(C) n
(D) 3

53 The orders of the elements of the

54.

23.

695/7

multiphkcstive group {1, -1, i, -i}
are respectively

(A) 1,2,1,2

{B) 1,2, 2, 4

{(C) 1,2,4,4

(D) L,4,2, 4

A subgroup N of a group G is & nor-
ma! subgroup of G if and only if for
every g« G we have

(A) ngn'=N

(B) ngn ‘=G

(C) 9ng '=G

(D) gng~'=

IfR s & boolean ring then v 3. R

(A)
(8)
(C)

(D) None of these

[13]

51, iz o, h 5 w2p & Q) sgm

52.

53.

54.

55.

{8 O b)- TIEX ¥y

(A) a' o b

(B) htag a

(C} aeb

(D) = A wd

O ¥ UFEA W B IR S Fwen
4.
(A)
(B) 02

() n

(D) 3

o WEE {1, -1, |, -1} ¥ A
1 B () T &

(A) 1,2,1,2

(B} 1,2, 2 4

(C) 1,2,4,4

(D) 1,4,2,4
TE G B! TR N Y0 3990 B
Ui AR B TR W geG T

(A} ngn =N

ral

(B) ngn-'=G

(C) gng =G

(D) gng~*=N

uRR o> qaama &, ™ vaeR
(A) a’=a

(B) a—*=a

(C) ai=e

(D) T & B 4@

P.7.0.
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=6. Every group of order four is must
be
(A) Cyclic
{B) Non-cydic
(C) Abciian
(D) Non-Abelian
57. I Gisafinte group of order n, then
o' —e {the identity) fa-:
(A) alla+ G
(8) only one a = G
(C) ot leastone a2 - G
(D) noa =G
58. Number of homamorphisms from
2, to ) is
(A) 8
(B) ©
(C) 1

(D) &

59. Which of the follewing structures is

not a field
() (Q, +,.)
(B) (R, +, )

(C) (C, +, )

[14)

56. oM 1314R) uR #1 YOS TTEE A-
(A) TPRE
(B) THIG A6
(C} =
(D) IR &

57. nf we G W F o) P 3 o
a"=e (¥l & e
(A) aMocGd
(B) ¥ TF 3 = G Q|
(C) THADAITD a e G &I
(D) % a « G 78 &

58. 2,% Z,  voeramsit A v &

(A) &
(B} ¢
(C) 1

(D) €
5. P ash @ wamaz a8 &

(A} (Q. +,.)
(B) (R, +,.)
(C) (C, +,.)

(D) (1, +,.)



&60. A commutative ring with unity is a
neldir it
1A) bhas proper ideals
(B) nac ng proper ideals
{CC) has no improper ideals
(D) Nare of these
€1. The moduius of the camplex num-

1-1i
ber 1= IS

(a) |
(8) -
(Cy 1
DY =1
62. Aring (R, +, .} is said to be with
cera divizors if, N R, a.k=0 imples
that.
‘2) az0&b=0
(B) a<0&0D -0
(C; a-0&b .0
(D) ¢-0&D-0
63, (G, oc)and (G, 0) aretwe graups,
Ther a mapping f GG is called a
hemomorphismifforall e, be G, we
nava
(A)] flaob)=f{a)a f{b)
(8) Haob)=f{a)0'(b)
(C) *lac'h)=f(a)o f(b)

D) Hzo'h)<=flalo'f{ )

695/

60. Um HERHAG T e B diy Ag
gren § oft aw
(A) I FET TR R
(B aftwr sweeh = T
(€C) FrgRwr st et T R
(D} =t ¥ W &

61. Rfbw =z -}:—: Bl e &
(A) |
{8) -i
(€) 1
(D) -1

62. 63 401 (R, +, .) W I YIS S oY
3.b=0 Uy w77 &
(A) a0 3 b=-0
(B) 2«0 M b=0
(C) a-0zb-0
(D) a-0 ¥R b-0

63. ufz (G, o) 2K (G, o) A TR &, A
ylatasur £:G.»G', YHSTAT FEera &
oz ®9 a, beG F T
(A) Flaob)=F(a)o F(b)
(R) t(acv)=f(a)c'f(b)

(C) f(ao'b)=Fla)o f(b}

(D) fao'b)=f(a)o'f(b)

P.T.0.



§4. It H is the orly =ubgreup of fnite
o-drrin a greup G Lhen ¢ i
(A} Not Normal subgroup of ¢
(8) Normai subgroup ot G
{C) May or may nol be a normal
subgroup of G
(D) None of these
65. AreldtionR = {(1, 1), (1, 2), (2, 1)}
defined on se¢ A={1,2, 3} s
(A) refiexive
(B) transitive
(C) equivalence
(D) symmelric
€6, Every group of ordor S is
(A) Cyclic
(B) Cyclic but not abelian

{C) Non-cyclic

WO sul[uoneuIl mmm//:sdny

(O) Non-cyche but abehan
67. The number of genarators of a cy-
clic group of order 16 is
(A} 16
(B) &
(C) 4
() 2

695/T [16)

61.

65.

bb'

67.

4% W G @ P H TR & ok

FHE W (BT A0 (A ], T

H @& \

(A) T G & FOTT TR A4 3

(B) ¥z G =7 EPIR TTEF &

(C; WHg G i3 |- JUNRYE WTOE ¥
24 wwoz W

(D) o= ¥ &g TR

WA A={1, 2, 3} & Fowfim e

R=i(1,1),(1,2), (2, 1} &
(A) zaq<

(B) “nad

(C) T

(D) FHies

O IFHE) 5 B IS TR R
(A) wPg

(8) wdtm oy sl T
(C) Tl 7

(D) T & =] At
59 lorder) 16 & TP WE & ATD
41 T #-

(A) 16

(8) 8

(C) 4

(D) 2




|

T

&69.

&B. If G is a commutative goup, then
ts cenlre is
(A) G
(B} (e}
(S IR
{3] Nune of these
If 5 iz any olemeont of a3 group then
Here "o moans ordern
(A; ofa)l<ol{b’ab)
(B8) c{a)<a(b 'ab)
(C) ola)>oi{b ab)

(D) o(a)=o(b 'ab}

79. The order of the group A, is:
nl
A nl B) —
4
Cln A
(C) o),
1. A Dinary operation, denoted by O,

un a non-empty set G 6 defined as

the masmna

{A) O:'G.a0

By 0:G-C .G

(C) O0:G-G »GrG

D} G:GG:G

72, Principalvalue of log(i) is

o

(ny =M

{(B] -

(cy “i
|

D) =i

(D) 3

695/T (17]

68. Ak G ymRifrr vax ¥ o o
m

(A) &

(B) {e}

(€ 4

(D) P e

= o 5 g W sk, W
T o' o anf B (order) ¥
(A) o(a)<o(b tab)

(B} o(a)=o(b:ab)

{C) of{s)>o{b-'ab) °*

(D) of{c)zo(b-'ab)

AE A E[FH#:

69.

70.

ni

(a) nt 8 %

(C} n (D) ;

7 A AT G R gus dues O
o w0 Rer 37 ToR TR T -
(A)
(B)
(C)
(D)

/1.

0:G »G
0:G«G G
0: GG 0GxG
0:G »G-~G
72. log(i) o wam oW &

12n 0 1) .
“n

(ay f

P.T.O.




/3. Theseries: 1-1+1=-141=14.....cocsniis
(A} Finktely oscilintory
(B) InAnitely vsallatory
{C} Convergent

{D) Divergent
A B o5 o and a, £b, s,
¥nameN Then
(A) Mo o
(B) (b=
(C) AT b, >
D) U7, b, »

75. Which of the follawing relations in
the set of real numbers is an equiva-
lence relation
(A) aRbif |a] = [b]

(B) aRbif ja| = |b|

(C) aRbifa-b >0

{D) aRb f |a)=]b]

76. The sequence <1, I, 1, e, >

convergests

(A) «

(B) -a

(C) -1
(D) 1

695/7

(18]

?31 ﬂw’ 1-’1"'1"1+1-t+--c|“...u“

74,

75.

76,

el 3

() Frad iR

(8) AT 2einpa :
(C)
(D} HPARY

T e ==l cﬁﬁﬂ!q.,:.n. o
qE rn2meN 0

A b s

{D} tim b, o«

RS dwmml ¥ e e f e W

AT o9 D WY 2

(A) aRb T [a] = ib|
{(B) aRb u% |al = |b|

(C) akb &% a-b

et

0

(D) aRb =% ja|=|b|

S <), L, L, > 3RGIRA o
4.

(&) - &

(BY -2

(C) -1 =™

(D) 1@

!
f
!

= - e mma =,

-

-



/7. The value of ;iivzis

(A)

e

(©)

(D)

78.
(A)

(B)

(C)

D)

79.

+1
=x/e
=1
0

sin (log )=

1
-1

-

If cos (x+1y) = cos a+ isin e then

cosh 2y + cos 2x=

(A)
(B)
(<
(D)
80,

tan !

+ tan™! -

i5-
(A)
(B)
(€)

(D)
695/T

1
2
3

4

The sum of the series

-1 i
1¢2.27

1
— +t
1+1.1°
nterms

--------------

tan 'ini-tan i1
ten 'in - 1)-tan!1
tarn 1)

tan"'{n)
[19]

77.

78.

79.

cilv2 BIHE R

(A} -1

(B) z«/f2

{C) 4i

(0) o

sin (log ") BT A &
(2) 1

(B) -1

(C} =

o cos (x+ly) = cosa + i sina @
cosh 2y + cos 2x Wt W= M-

(A) 1

(B) 2

(C) 3

(D) 4

80. AN

1

t - :+tﬂ ‘:
L-11+1

1 1

an

« tan

(A) tanin)-tan ‘1
(8) tantin+1)-tant1
{C) tan?n-1)

(D) tar’ind

P.T.0.



81. Theo series * sin I%] I5 81. X rsin |},f,| 9

(A) Convergent (A) AR
(8) DNergent (D) wEd
(C) Osdilatory (C) DA
{D) None of these (D) FH A A FE
f N “;'? 4 nz .
82. The series 3 ——_ i . 0n_ .
he se ey = s 82. Mz.|-n-__]] 5
(A) Convergent (A) 3R
(8) Divergent {B) 3Ty
(C) Osciliatory (C) A
_g; (D) None of these (D) sl A = T8
w A
It ' - ib 3-ib?
E R2. dllloaaﬂhl 83. ranncg i
= 2ab 2ab
i (A} al - (A) 2 - b2
= 28b 2ab
S o) ab
g (C) 75 (€ 57, p2
o 0} _ab ab
g LAY (@ a‘ - p?
2 8a. Which o the following sequence 84. AW i ots w1 = W depa 8-
osciflates finitely ' 11
; . {A) | -1 n+ - )
fay | -1 .- ! ' ]
(a) 11 fla !
:n [_ lr. '||
|'—1f \ {B] v 1+ | .
. i 4 n i
(B8 ol +
. (C) (34i-1r}
(C) (3~-i=11; ‘ "
fetan ! ni_f_.l I"
(0) {33 (P % 2073

695/T {20
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3%5. The sories 85
&-x e 2F LGNS
1 l 2" Jl = ¥ . LT YR TTIM
X =005
(A) € if x &
v J C GﬂVéfgeﬂt f %« c and dlv:r‘
Quntaf x 2 !
1
1
(8) Convergent if x “ - and diver-
gent it x i

{C) Convergent if x .- :1- and diver-
gent if x - 2
(D} Convergentif x = i and diver-
gent if x e
86. The generaturs of the multiplicative 86.
Cycic group (1, w, w’) are
(A} w and w-
(B) 1 and w?
(C) 1 ond w
(0) 1, w and w*
§7. 1t ¢, f, are odd permutations and 87.
f,. f, are aven, then which of the

following is correct
(A) tf, is oad
(B) fr is even
{C) If, is odd
(D) £t is odd

695/T [21)

At

arx, oy axp (g-axf

o <3 T
x:=0,is

3

(A) ﬁmﬂu&xc’ésﬁzm:ﬁ

XX

o

-

{B) Mn&u;mmu&
!

X »

c
(C) sOrRloR x -2 o etk
1

XA
e

(D) sfirefiofx x»-;-sihamﬂﬂq%

XL =

TS EIa I (1, w, W) B30
?

(A) w3l w

(B) 13w

(C) 15w

(D) 1, wa w

utx f, f, fm wava w1, f, @
FUG &, a7 = A ot o 2

(A) 1f, fomw
(B) f.f wm @
(C) ff, famm ¢

(D) ff, A= ¢

P.T'o.



88. If H is a subgroup of a group G, 88. T H¥ME G &l JTNE £, 7T al=bH
then aX=hH if and oniy if a2 R AT e
(n) acH (A) a=H
\B) b:zH (B) beH
(C) abcH {C) abzH
(D) a-'beH (D) a-‘beH
B3, Ifthe order of a group G is p? where 89. Ji2 Hg H TN (380 p* &, T p TH
1S a poline nurmber, then G 15 WIS Tl ?. 7 G B
(A) not necessarily abalian (A) ATEE T i AT W
(8) notabekan (B) safoo= =& AW
(C) atelian (C) wferas gm
(D) None of these (0) z 9§ o =
= 90. Identity permutation is g0. =i wowa -
e {A) Even permutation _
2 (B) Oda permutation (A) T SHIR
< (C) Nelther even nor odd permu- (8) fays PG
< tation (€) T & 7= 3 1 e oo
p (D) Both even and odd permuta- -
'5 tion (D} By HZ PAm eFT H
= g1. Every subgroup of index two is 91. YediE &) & TdE NaER 2-
=
g (A) not en abefian group (A} &g 3Alea= 9IE 6}
5 (B) an abelian group (8) TF T FE
o (C) wato= wqy @ W " & A
S (C} May or May not be abellan group G
(D) None of these (D) 79 % =¥ 56
92. H, and H, are two subgroup of a 92. ulz H, IR H, ¥ G & &1 I &,
group G then H,UM, is @ H, o, 2
(A) Subgroup of G (A) G ow 3=
(B) Not a subgroup of G (B) G & TER ¢
(C) May of may not be subgroup (C) G o 3oeHE 21 s Hainm & #R 8
of G 0
(D} None of these (D) ¥ | T A
695/¥ [22]



93, The interseetion of two icleals of a

ring R

(A) is anideal of R

(B) rot necessarily an ideat of R
(<] not an ideal of R

(3} None of these

84. The sequence <an> where

Foocranna, #®

(&)Y Convergent

(B8) Divergent
(C) Uscilfatory
(DY None of these
as.
then o{b)=
(A} 15
(B) 31
(C) 32
(D) None of others
A transpostion 15 always:
(A) AN even permutation
{B) AR odd pormutation
(C) 0dd and even both
(D) None of these

695/T7

[fwva group a*-e, a've, aba ' =bF,

(23]

93. I R &7 =) IR H Rirdye wo-
(A) R @ B3 Fmavl |
Hrevcen w4 f5 R & 3Ed
R aw et 3¢ A

gt & o f

Y44, W <gn> B, FTA

(8>
()

(D)

(a) it

(B) ST

{C) 2wFg=

(D) 7R ¥ #F ¢
95. M WM ¥ a‘-e, a'<e, aba-'=b?

T o(b)=

{A) 15

(8) 31

(C) 22

(D) s ] & =l
96. vH #FH aREdT @ &

(A} OF 9 8-Ta9
(B) O e o €uy
(C) R 3R as &4
(D) &% & B

P.T‘u L]
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97. A bijective masping is:
(A) One-onc
(B) Onto
(C) Oneg-one and onto
(D) None of thuse

fl 2 3 4 5" 98.
1

Drderof;s 245 =3

gB.

(A) S

(8) 4

(€ 3

(D) 6

99. The singleton set {07} is a ring with

respect to

(A) Addition
(B} Muitiplication

(C) Both (A) and (B)

WD SuI[uoneul mma//:sdny

(D) Neone of these
100.Choose correct statement Every

subgroup of a ¢cyciic greup is

(A) Cyclic httpsy//www.rmlauonline.com
Whatsapp @ 9300930012
(8) Abelian Send your old paper & get 10/-
A A Al A 3 10 sud ard,
(C} Normal Paytm or Google Pav @&

(D) Ali are correct

695/7 (24]

99.

(c) 3

(O) &

=i 9 e W & R ! TR
{0} a4 -

(Ay BYTHA

(B) TUFDA

(C) 2t (A) 7 (B)

(D) ¢4 A Mg A8

100. 98 e give-

agra WE G & WS TE -
(A) =i

(B) FATUA

(C) M

(D) wW a2



